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Third Quarter Examination Part II
MULTIPLE CHOICE
 56. An int variable someInt contains a value from 0 through 9. Which of the following stores the corresponding digit character into someChar?
a.  someChar = char('0' + someInt);
b.  someChar = char(someInt);
c.  someChar = someInt;
d.  someChar = char('0' - someInt);
e.  someChar = char(someInt - '0');
 57. How many significant digits does the floating point number -8523.04
have?
a.  four
b.  five
c.  six
d.  seven
e.  eight
 58. What is the floating point value represented by the encoding shown below? (As in the textbook, the value is encoded in the following order: the sign of the number, a signed one-digit exponent, and a four-digit mantissa.)
+ +1 2345
a.  0.2345
b.  2345
c.  23450
d.  234500
 59. You are writing a program that will add three floating point variables x, y, and z ranges are as follows:
x: 0.01 to 0.9
y: 2.1E10 to 3.0E10
z: -3.5E10 to -2.2E10
In which order should you add them to obtain the most accurate answer?
a.  Add x and y, then add z
b.  Add z and x, then add y
c.  Add y and z, then add x
 60. Assume you have the following declarations:
enum Days {SUN, MON, TUE, WED, THU, FRI, SAT};
Days someDay;
Days twoBefore;
and that someDay has been assigned some value. The variable twoBefore is to represent the day of the week that is two days before someDay twoBefore?
a.  twoBefore = someDay - 2;
b.  twoBefore = Days(someDay - 2);
c.  if (someDay < TUE)
        twoBefore = SAT;
    else
        twoBefore = someDay - 2;
d.  switch (someDay)
    {
        case SUN : twoBefore = FRI;
                   break;
        case MON : twoBefore = SAT;
                   break;
        default twoBefore = Days(someDay - 2);
    }
e.  none of the above
 61. You have created some useful type declarations and constant declarations and have stored them into a file named mystuff.h
into a program?
a.  #include <mystuff.h>
b.  #include "mystuff.h"
c.  #include mystuff.h
d.  #insert mystuff.h
 62. Although the expression
34 + 'A' - 65.84
is not likely to be used by a programmer, it is valid in C++. What is the data type of the expression?
a.  char
b.  int
c.  long
d.  double
e.  long double
 63. Which of the following statements about C++ arrays is true?
a.  Array components cannot be of floating point types.
b.  The index type of an array can be any data type.
c.  An array component can be treated the same as a simple variable of its component type.
d.  a and b above
e.  a, b, and c above
 64. Given the declaration
float alpha[75];
the valid range of index values for alpha is:
a.  0 through 75
b.  0 through 74
c.  1 through 75
d.  1 through 74
e.  1 through 76
 65. After execution of the code fragment
int arr[5];
int i;
for (i = 0; i < 5; i++)
{
    arr[i] = i + 2;
    if (i >= 3)
       arr[i-1] = arr[i] + 3;
}
what is contained in arr[1]?
a.  2
b.  3
c.  7
d.  8
e.  none of the above
 66. Given the program fragment
char alpha[200];
char beta[200];
Copy(alpha, beta, 200); // Copy all components of beta into alpha
which of the following is the best function heading for the Copy
function?
a.  void Copy( /* out */ char arr1[],
               /* in */ char arr2[],
               /* in */ int length )
b.  void Copy( /* out */ const char arr1[],
               /* in */ char arr2[],
               /* in */ int length )
c.  void Copy( /* out */ char arr1[],
               /* in */ const char arr2[],
               /* in */ int length )
d.  void Copy( /* out */ const char arr1[],
               /* in */ const char arr2[],
               /* in */ int length )
 67. You are writing a program to count the frequencies of characters that are read from a data file. (The computer uses the ASCII character set, which defines 128 different characters.) Which of the following array declarations is appropriate, given that input characters will be used to index into the freqCount array?
a.  int freqCount[128];
b.  int freqCount[char];
c.  char freqCount[128];
d.  char freqCount[int];
e.  none of the above
 68. Assuming that a particular general-purpose search function must let the caller know where the item was found, which of the following function parameters is not absolutely essential?
a.  the array containing the list to be searched
b.  the length of the list
c.  the item to be searched for
d.  a flag to indicate that the search was successful
e.  an index giving the location of the item
 69. What does the following function do?
void Mystery( ItemType list[],
              int      listLength )
{
    ItemType beta;
    int      count1;
    int      count2;
    int      i;
    for (count1 = 0; count1 < listLength - 1; count1++)
    {
        i = count1;
        for (count2 = count1 + 1; count2 < listLength; count2++)
            if (list[count2] > list[i])
                i = count2;
        beta = list[i]; 
        list[i] = list[count1];
        list[count1] = beta;
    }
}
a.  It inserts a new item into an ordered list.
b.  It inserts a new item into an unordered list.
c.  It sorts a list into ascending order.
d.  It sorts a list into descending order.
e.  It exchanges each list item with its immediate neighbor.
 70. Approximately how many comparisons are performed by a binary search of 1000 items if the search item is not in the list?
a.  1000
b.  500
c.  50
d.  10
e.  1

 71. A list currently contains listLength integer items, where listLength < MAX_LENGTH of the following code segments correctly inserts the value 100 into the list at position insertPos?
a.  for (i = listLength - 1; i >= insertPos; i--)
        list[i+1] = list[i];
    list[insertPos] = 100;
b.  for (i = insertPos; i < listLength; i++)
        list[i+1] = list[i];
    list[insertPos] = 100;
c.  for (i = listLength; i > insertPos; i--)
        list[i] = list[i-1];
    list[insertPos] = 100;
d.  a and b above
e.  a and c above
 72. Given the declaration 
int list[7] = {10, 15, 20, 25, 30, 35, 40}; 
a binary search is used to search the list for the value 35. In each iteration of the search loop, the index variables first, middle, and last define the range of items being searched. When the search is finished, what is the value of first? (Remember that C++ arrays begin at index 0.)
a.  0
b.  2
c.  3
d.  4
e.  5
 73. Given the declaration 
int list[7] = {10, 15, 20, 25, 30, 35, 40};
a binary search is used to search the list for the value 20. In each iteration of the search loop, the index variables first, middle, and last define the range of items being searched. When the search is finished, what is the value of first? (Remember that C++ arrays begin at index 0.)
a.  0
b.  2
c.  3
d.  4
e.  5
 74. Which of the following is an O(N) algorithm?
a.  a sequential search of an unordered list
b.  a sequential search of an ordered list
c.  a binary search
d.  a and b above
e.  a, b, and c above
 75. Given the declaration
char myName[4] = "Ben";
which of the following does not output "Ben"?
a.  cout << myName;
b.  for (i = 0; i < 3; i++)
        cout << myName[i];
c.  for (i = 0; i < 3; i++)
        cout << myName;
d.  i = 0;
    while (myName[i] != '\0')
    {
        cout << myName[i];
        i++;
    }
 76. Given the two lines of input data
Now is
the time.
what character is stored into the variable someChar by execution of the following code?
char str[20];
char someChar;
cin >> str;
cin.get(someChar);
a.  ' '(blank)
b.  'i'
c.  '\n'
d.  't'
e.  It cannot be determined from the information given.
 77. Given the two lines of input data
Now is
the time.
what character is stored into the variable someChar by execution of the following code?
char str[20];
char someChar;
cin.get(str, 20);
cin.get(someChar);
a.  ' ' (blank)
b.  'i'
c.  '\n'
d.  't'
e.  It cannot be determined from the information given.
FILL-IN-THE-BLANK
 78. A(n) ____________________ variable is one for which memory is allocated and deallocated when control enters and exits the block in which it is declared.
 79. In C++, the ____________________ statement is the special control structure designed for multi-way branches.
 80. When used for a count-controlled loop, the C++ ____________________ statement is the looping structure that collects into one location the initialization, testing, and incrementation of the loop control variable.
 81. In C++, the ____________________ statement is the looping control structure whose body is certain to execute at least once.
 82. Name the C++ looping statement (other than the While statement) whose body may not execute at all: ____________________
 83. In C++, the ____________________ statement causes control to proceed immediately to the next loop iteration, skipping the rest of the statements in the body.
 84. A ____________________ loop is the general name given to a loop in which the loop test is positioned after the loop body.
 85. The ____________________ of a data type is the set of all possible values of the type.
 86. The printable (character) form of a data value is called its ____________________ representation.
 87. In C++, ____________________ is the term for a char
constant that begins with a backslash (\) and is used to represent a nonprintable character.
 88. ____________________ is the condition that occurs when the result of a calculation is too large to be represented in memory.
 89. A(n) ____________________ is a data type that is declared without an associated type identifier.
 90. A(n) ____________________ data type is a collection of components whose organization is characterized by the method used to access individual components.
 91. A(n) ____________________ array index is an index value that, in C++, is either less than zero or greater than the array size minus one.
 92. The ____________________ of an array (the actual number of values in the array) may be less than the array's declared size.

 93. ____________________ arrays are a structure in which several arrays are accessed by the same index.
 94. An array index is said to have ____________________ if it has meaning beyond simple position.
 95. Write the declaration statement for a 25-element one-dimensional array named letterGrade whose component type is char: ____________________
 96. Given the declarations
enum Colors {RED, ORANGE, YELLOW, GREEN, BLUE};
float waveLength[5]; // To be indexed by values of type Colors 
write a statement to print the third component of the waveLength array: ____________________
 97. In a data structure, components are said to be ____________________ if they are all of the same data type.
 98. In C++, a(n) ____________________ is a null-terminated sequence of characters stored in a char array.
 99. Below is a three-statement sequence to swap two array elements by using a temporary variable. The first statement is missing. What should it be?
Statement 1:          
Statement 2: x[i] = x[j];
Statement 3: x[j] = temp;
100. Write a typedef statement that defines ArrType to be the same as the type "25-element array of int": ____________________
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